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(2z + 3)(4x +5) = 8x* + 22z + 15

@ (5z — 3y)(4x + y) = 2022 — Try — 3y?
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3z + 2)(2x + 7) = 62* + 25z + 14
(6a — b)(3a — 4b) = 18a% — 27ab + 4b*
(3z +2)* =92% + 122 + 4

(Ta — 5b)? = 49a? — 70ab + 25b°

(82 + 5)(8z — 5) = 6422 — 25
(10a — 7b)(10a + 7b) = 100a?
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4z + 3y)3 = 643 + 1442y + 108zy? + 2713

20 + 4c)? = 9a® + 4b* + 16¢* — 12ab — 16bc + 24ac
3y — 22)% = 162 + 9y? + 42% — 122y + 12yz — 1622

(3x — 2)3 = 2723 — 542? + 36z — 8

(5a — 2b)3 = 125a3 — 150a2b + 60ab* — 8b*

3z — 10y) (922 + 30zy + 100y?) = 272* — 1000y>

2z — 5)(42? + 10z + 25) = 8z — 125
4z + 3y) (1622 — 122y + 9y?) = 6423 + 2733

2?4+ 3z + 6)(2% — 5z + 6) = 2t — 223 — 322

@ (6a — b)(36a* + 6ab + b?) = 216a> — b
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D 222 +7x+3=(z+3)(2x+ 1) @ 322 +8r—3=(z+3)(3x—1)

@ 622+ 11z + 3 = (2 + 3)(3z + 1) @ 222 — 172+ 15 = (z — 1)(2z — 15)

® 4% — 4z — 15 = (2 — 5)(2z + 3) ® 622 — 172+ 12 = (22— 3)(3z — 4)

@ 22? + 152y + 18y* = (2x + 3y) (v + 6y) ® 4a® + 5ab — 6b* = (4a — 3b)(a + 2b)

@ 6y* — Try — 32% = (2y — 32)(3y + ) 8p* — 22pq + 15¢° = (4p — 5¢)(2p — 3¢q)

O 102% — Tzy — 12y = (2 — 3y) (5 + 4y) ® 4a® +2a —12 =2(a + 2)(2a — 3)

® 122% — 44y — 16y* = 4(x — 4y)(3z + y) ® (a—>b)+9(b—a)=(a—"0b)(c—3)(c+3)

® 1622 — 3z —2y)? = (T — 2y)(z + 2y)

® (x+3y)(zr+3y—7)+12= (x + 3y —4)(z + 3y — 3)
@ 2(a+b?*—a—-b—3=(a+b+1)(2a+2b—3)

® 2z —y)*— (x+2y)? = (z —3y)(3z + y) (a +0)* — (a—b)* = 8ab(a® + V?)
D 22—y’ +4y—4=(r—-y+2)(x+y—2) D2+ +2z+2=(x+1)(z?+2)
@ 2a®-1+a*>-2a=2a+1)(a—1)(a+1) @ 4b—-12—(b-33=—-0b-1)(b—3)(b—05)
O v +y+z—ax=(y+2)(vy—z2+1)
® a® +a*b—ac* —bc® = (a+b)(a—c)(a+c)
® ab* —4ab+3a—b+3=(b—3)(ab—a—1)
@ 2>+ (a—2)2* - (2a+3)x—3a = (z+1)(z —3)(a+ )
® 2 +2zy+y*+3x+3y+2=(x+y+2)(zr+y+1)
@ 222 —axy -1’ +5rx+y+2=(r—y+2)2r+y+1)
@ 622 —Toy —3y? — 11y —6 = (=30 —y — 3)(—2x + 3y + 2)
@D 62 +ay — 22+ To+Ty—3=2r—y+3)3x +2y—1)
@ 12 — 25z + 122 + 4y — 102y — 8y* = (4o + 2y — 3)(3x — 4y — 4)
@ be(b— c) + ca(c —a) + abla — b) = (a — b)(a — c)(b—¢)
@ ab(a +b) + be(b+ ¢) + cale + a) + 2abe = (a + b)(b+ ¢)(c + a)
@® (@a+b)(b+c)(c+a)+abc= (a+b+ c)(ab+ be + ca)
@ a*(b—c) +b*(c—a)+*a—0b)=(a—0b)(a——c)(b—rc)
@ *(b—c) +¥(c—a)+c(a—b)=(a—b)(a—c)b—c)(a+b+0)
® a*(b—c) +b'c—a)+c*(a—b) = (a—0b)(a—c)(b—c)(a®+ ab+ ac+ b* + bc + ?)
@ 2t — 1322 + 36 = (z — 2)(z + 2)(z — 3)(x + 3)
@zt —1=@-D(x+1)(2*+1)
@ @—x-3)(2*—2-5)—-3=(z+1)(z—2)(z+ 2)(z — 3)
@ (>+6x+3)(a?+6x+7)+4=(z+1)2*(z+5)?
(z—1)(z—2)(z+3)(x+4) — 24 = x(x + 2)(2® + 22 — 11)
@ 2t+22+1=@ -+ 1)(22+2+1)



® ' —2222 +9 = (2® — 4z — 3)(2* + 42 — 3)
4t + y* = (22 — 22y + y?) (222 + 22y + 9?)
@ —1=@-12*+r+1)(z+1)(2*>—2+1)
® abz? — (a® + b*)x + ab = (bx — a)(azx — b)
® (a+0b)*x* —2(a+b)(m+n)xy + (m+ n)*y* = (ax + bxr — my — ny)?
@ (a+b)%?—8(a®—b%) + 16(a — b)? = (3a — 5b)?
@ (a+b)2+2(a+b)(c+d) +(c+d?*=(a+b+c+d)?
@ (m—2)22+ Bm—T)z+2m—5= (x + 1)(mz + 2m — 2z — 5)
@ (b+c—2a)2+(c+a—2b)r+a+b—2c=—(x—1)(2ax +a—bx +b—cr—2c)
(r+9)° — (y — 2)° = doy(z® + 3y*) (32 + ¢?)
@ a* +b* + c* — 26%c? — 2c2a® — 2a** = (a—b—c)la+b—c)(a—b+c)(a+b+c)
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